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1. vad e g SN ' 1. Complete the given series
0 : 36, 34, 30, 28, 24. 9.
36, 34, 30, 28, 24, 7 » 24, _
1 26 (2 20 1) 26 @ 20
3 22 (4) 23 @) 22 4) 23
2. U afl T FR S 2. Statement: All buses gy carg
oft T Ea gl S All scooters aye buseg
o - .
. Ei=a I Eﬁé@l?&[?ﬁﬁ% netusions }I iﬁ iﬁooter 18 byg
II. ThFR=EE ' ars are byge,
(1) FaAlTdE _ (1)  Only I follows
(2 FaallTRE (2)  Only IL follows
(3) I3MIITAi=es ' : (3) BothI and II follow
A TAINEAD I T (4)  Neither I nor II follows
3. hIFamgh I = fier i 8. Match List I with List II
w1 -1 List-I List.I[
A fEEfty L dW F ® A The FM. has I Many deag
Afates KSEC) qd aSford Hzglosecl fish were
itional found
TR a nd near
tr|§7|'§ tax . lake shore
ferm g - B. Many people I Literacy
B. Ww g ¥ I P < wiaRa left city in rate among
s 9 . aﬁmg{‘q—a summer poor is
- ) steadily
TR A e LEIE | A
RS C. Many _ III. The fiscal
C. 3FsyEeER- 1[I 3T & TShNE “  vegetarians deficit of the
T I qmq;q@;n% are suffereing country has
Rrh : from stomach been
QR : ailments reduced
_ ifsa @ - - D. School IV. Tourism
p. feqi & o Iv. T g T ydeq education has gains gﬂffd
et R H IS T - been  made revenue 10
free for poor summer
frwgpes I TH BT & " poor
TR . |
ﬁﬁqmﬁﬁﬁﬁﬁﬁﬁmﬂwﬁﬁm Choose the most appropriate answer from
the options given below:
1 AVBILCILDL  — (1) AV, BII, C-II, DI
@ AJLBIILCIIL ]I;'E‘I’ g (@ AL BIL CIIL DIV
(3) A.‘II, B'I, C'IV) = ' Ly A . . (3) i A—II’ B-I, C-IV, D-I]I
(4 AL, B-IV, C-L, D-II

(4) AL B-IV, C-I, D-IT
BANTH ' | (E3 - 2) |
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A

4. gt-1% 9y g1 6 e Rk
I 1T
A amEeIE 1 whesde
HIE A&
Yeiferaw
TR

Hfet

B. IU % = IL
(G7)

C. TeH II1.
ST
EARIC ]

D. deeee
CIEIEE N

E:ECEEC]

Fad

Iv. et

1 o 7 e 3 & et e s s i

(1) A-II, B-IV, C-II, D-I
(2) AT, B-II, C-I, D-IV
(3) A-IL B-II, C-IV, D-I
(4 A1V, BIL C-1, D-II

5. SO gEA R PR
879,810,9 11,7
(1 11 @ 9
(3 10 @ 8

6. g1 A G- 11 Fl e i

g1 1T
A Tawed@m 1. Ctrl+B
B. fiewhn II. Ctrl+A
C. dies 1. Ctr+N
D. 3gd g =& IV. PrtSern
Srgie
) fow o foreed 8 Gt It 5 il

(1) A-I, B-III, C-IV, D-1I
(2) A-IV, B, C-III, D-II
(3) A-I, B-IV, C-I, D-III
(4) A-IIL B-IL, C-IV, D-I

BANTH
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4.

(E3 - 3)

b

Matech List I with List IT

List-I List-II
A. Organisation L Switzerland
of Arab
Petroleum
Exporting
Countries
B. Group of II. Saudi
Seven (G7) Arabia
C. Gulf III. Kuwait
Cooperation
Council
D. World Trade IV. Italy
Organisation

Choose the most appropriate answer from
the options given below:

(1) A-III, B-1V, C-II, D-I

(2) AL B-IL G-I, D-IV

(3) A-II, B-III, C-IV, D-I

(4) A-IV, B, C-I, D-II

Complete the given series
87928 10,9, 11,7

1 11 @ 9
3) 10 4) 8
Match List I with List II

List-I List-II
A. Select all 1. Ctrl+B
B. Printscreen II. Ctrl+A
C. Bold III. Ctrl+N
D. Open new IV. PrtScrn

blank

document

Choose the most appropriate answer from
the options given below:

(1) A-I B-III, C-IV, D-II

2) A-IV, B-J, C-IIL, D-II

(3) AL B-IV, C-[, D-III

(4) AL B-II, C-1V, D-I
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7. YRR Wi iR o SO R HAT ST 87

1) =
@) TR
3) T
(4) goRM

8. PR wesi 3 S aeq 9 Had A

@m%ﬁ@ﬁﬁw
A TETH W g Hia

B. e fadeH

.C. REERIDH

D. &N

E. faared sicem _
ﬂéﬁqmﬁm‘fﬁﬂaﬁmwwaﬁﬁq:

(1) CBDAE
2 AECB,D
) BACED
4 D,B,ECA

WA % GiAH 6 7 FRar & FRo FE <t
A Ae Hifieh fare 3 wuwed @
AT R Tehd &

(1) e

2) @

(3) |

4) R

(E3 - 4)
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Who is considered as the founta\in-h(;_.atl ;
_ 0
the Bhakti movement in Maharasty,s

1) Ramdas
(2) Jnanesvara
(3) Eknath

(4) Tukaram

Arrange the following events in ordey o

their occurrence (past to present)
A.  The advent of Mahatma Gandh;

B.  Partition of Bengal

C. The Rowlatt Satyagrah
D. Dandi March

E

Khilafat Movement

Choose the correct answer from the

- options given below:

(1) CB,DAE
(2 AECBD

(3 B,ACED

4 D,BECA

This feature of the Indian constitution
allows individuals the freedom to live by

their religious beliefs and practices

(1) Secularism
(2) Integrity
(3) Sovereignty

(4)  Federalism
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10. L gomifea s
| 1L g i o
Perd: L o e
L e gff e
(1) FEaluds
2 FEAIIEERR
(3) WAIAI |2
(@) FETETERR
11, 7 3R =ARRT srar =afe Tt g s ik |11
ST S STl 3TN YR ol U=
(1) Feftamsam
(2) T aE I
(3) TgHamIa
[(4) ST &= SEm
19, G-I wre gEft-1I o et <hifsrg
T I
A umEwad@E L @
forerteor et 8
B. var-Wg 1. 3I=EE
. g R R
T T @ |
c.. ymwesa L wrafies 9gH
$rH1es H
Frerfeor T @
D. SuE 3N IV. Sfra-sigdad
il 3R ged
Sfarg
ﬂ%ﬁqwﬁ?ﬁaﬁﬁﬁaﬁrsﬂtwwaﬁﬁq

1) A-IL B, C-II, D-IV
@ AL BV, C-L DI
(3) AL B-IL CIV, D1
(4) A B-IL CIIL DIV
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Statement:

Conclusion: I

(1) Only
(2) Only

I Some cameras are radios.
II Some statues are

cameras.
Some radios are statues

II No radio is statue
I follows ‘

II follows

(3) Either IorIl follows

(4) None

follows

Identify the type of industries owned and
operated by the state and individuals or a

group of individuals.

(1) Private sector industries

(2) Cooperative sector industries
(3) Joint sector industries

(4) Public sector industries

12. Match List I with List II

List-I List-1I
A. Determines I. Time
colour of the
soil _
B. Affect the II. Relief
rate of
humus
formation
C. Determines III. Parent.
thickness of rock
soil profile
D. Altitude and IV. Flora,
slope fauna and
micro
organism
Choose the most appropriate answer

from the options given below:

(1) A-III, B-L, C-II, D-1V
(2) AL BV, C-I, D-I1

(3) AL B-IL C-1V, DI

(4). A-L, B CIII, D-IV

(E3-5)
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; ith List II
v W_I%WW-HW&WE&%Q 13. Match List I wi |
KSR 11 List-1 List-IT
A ffmmsig | 37irsh fRven =1 A, William Jones L lg}mnlljoﬁon of
) nglis
BERES educatip
n
B. wigmgdik 11 g B. Rabindranath IL  Respect fo,
TGl Tagore ancient i
cultureg
C. vmaism ﬁm;{m C. Thomas LIT Learning in
' e : Macaulay a naturg]
Umﬁ en\l'jronment
" , D. Mahatma IV.  Critical
D. wermmet  1v. il e % Gandhi ggghsh
- tion
uca
ﬁ%ﬁqwﬁwﬁﬁﬁgﬁmaﬂww Choose the most appropriate answe,
from the options given below:
(1) AL B-IV, CIIL, D-II (1) AL B-IV, C-III, D-II
(2) A.I, B-III, C-I, D-IV (2 A-II B-II C-I, DIV
«(3) A B-II C-IV, D-IIT () A BIL CIV, D-III
(4) AL B-IV, C-II, D-I (4) AL B-IV, C-II, D-I
14.  gEtI s 9 gt 11 =1 frem $ifv 14. Match List I with List II
il 11 | List-I List-IT
A Fast o ogaw L ge A, Netaji I.  Mumbai
9% |9 g Subhash
JI Chand.ra
; ; Bose airport
B. gﬁnmiﬂ IL7 argaet B. Indira II. Amritsar
HAWET gaTg Gandhi
37T : International
i t
. Baufd fmEsh 1L . alrpor
C ) fegh C. Chhatrapati III. Delhi
HRY g
Shivaji
el International
b '{L’G'{Tﬂfﬂﬁsﬁ IV. <hiciehrdr airport
AqWE gag D. Guru IV. Kolkata
Ramdass Jee
gl : Intgarnational
airport
et few e foreheat ® & @&t I 1 997 Fifvg Choose  the most appropriate answer
from the options given below:
() AL B, CII, D-IV (1) AL B.I, C-IL, D-IV
(2) A-1V, B-1II, C-1I, D-I (2 AV, BIIL C-IL DI
(3) AAILBY, C-L DI (3) AL B-IV, C.I DI
4 A-IV,BII CLD-II (4) AV, BIL CI DI
BANTH (E3 -6)
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16.

17.

ﬁq%ﬁaaﬁﬂﬁqmm‘m’%amﬁ

QTTIT FAT 27

A o ot avg 3 e fted e awa

B. & % %R bt ang & dee D w2
C.

F G
D. =t foredt aeg o =t & oftad o wear
E. oo Y%aa1 7941 @i 8 gear 8|

A4 g e et 2 e e

() ¥ B,A,E,C
(2) ¥ dA,B,C,D
(3 ¥¥@B,C,D,E
(4) F=dA,B,D,E

BANTH

e Fareft g 1 i o e & e v

16.

(E8-17)

17.

made resource
Machinery
Roads

Tropical forests
River water
Bridges

HOOW>

Choose the correct
options given below:
(1) A, BandEonly

(2) B, CandD only
(3 A, BandConly
(4) D, Aand B only
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| 15. From the following, identify the human-

answer from the

From the following, identify the Chinese

Buddhist pilgrims:

. Megasthenese
Faxian
Xuan zang

I-Qing
Ibn Batuta

Choose the correct
options given below:
() A BandC only

(20 C,DandE only
(3) B, D andE only
(4) B, Cand D only
Which of the

HoQWR

A

following
explain the application of ‘FORCE’
. Force may brin

shape of an obje

answer from the

statements

g a change in the
ct

Force may make an object move
Force cannot change the direction of

ge the speed of an

B.
C.
motion of an object
D. TForce can chan
object
E.

Force can be push or pull

Choose the correct answer from the

options given below:
(1
()
@A)
(4)

B, A E and C only
A, B, Cand D only
B, C, D and E only
A, B, D and E only
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18. maﬁaﬁaﬂaﬁwﬂm@mﬁmaﬁg&ﬁw?

(1)
@)

9
(4)

1938
1947
1935
1954

19. eI & wra g 11 =1 firem hife

I @.ﬁ
A IR L Aursh
B. ¥ % WRaR I e oW
N @ R
AEAEFHATA
#i qfd & forg
H SR et
F
C. aivisms 1. ®EaRd HY
WA % fou
IS T HHA
D. wWJeaead IV. fakesl
A wEd
IS ATl 2
= few e fereredt 7 & @€t 3T w7 v
(1) A-IIL B-IV, C-II, D-I
() A1, B-IIL CII, D-IV
(3) AL B-IL C-I, D-IV
@ AL BV, CL DI

BANTH
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In which year was the RBJ formau
¥

inaugurated? ;
(1) 1938
(2) 1947
(3) 1935
(4) 1954 N '
Match List I with List II-
List-I List-II
A. Slash and I.  Plantation
burn agriculture
agriculture
B. Farming II.  Commercia]
practiced to grain
meet needs farming
of farmer’s
family
C. Crops - III. Shifting
grown for ' agriculture
commercial
purpose
D. Single crop IV. Subsistence
is grown in agriculture

a large area

Choose the most appropriate answer from

 the options given below:

(1) AJIL B-Iv, C-I1, DI
(2) A, B-IIL C.II, DIV
() AL B-III, C-I, D-IV
(4)  A-IL B-IV, C.I, D-II
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20. A1 T Gefi-T e ifarg

A Ff;{wm : T
- SR L wef
%‘cﬁl £ qﬁ aumay
oY
STl B
B. @R IL w
C. wI & mE- I R
TR I JAER
L°pi
D. & Iv. i
e o e foreredt & & e 3 & 991 I
(1) A-I, B-IV, C-III, D-II
(2) A-II, B-II, C-IV, DI
~A3) A-IV, BIL C-I, DI
(4) AV, B CI, D-II
91 ge-IF wgH- I frem A
I A1
A wWEdE L o@a  H,
W EdEd © TG
Tt
B. daiiiE 1L emEEe
IcaTed SAR H
AT
geFd bl
c  wmddfE [ FE,  wEE
IS
Heenfasd
_ TR @EES _
13 e e 8 e R TG
(1) A-TV, B-II, C-1, D-II1
@ ALBILCILV, D-II
@) AILBILY, C-L DI

@

BANTH

A BIL CIL DIV

(E3-9)

20.

21.

Match List I with List I
List-I List-1I
A. Place where L Pradakshina
the image of Patha
deity is
installed '
B. Tower II. Stupa
C. Circular path IIL Shikhara
around the
stupa
D. Mound IV. Garbhagriha
Choose the most appropriate answer
from the options given below:
(1) A-I, B-1V, C-II, D-II
2 AL BIIL CIV, DI
(3 AIV,BII G DI
(4) A-IV,B-I CLD-II
Match List I with List IL
List-I List-IT
A. MNCs buy at I.  Tata
cheap rates motors,
Infosys,
: Ranbaxy
B. It helped in IL Automobiles
spreading of
production of
; services .
C. Indian III. Garments,
companies ' local
products
D. MNCs IV. Call centers
setting-up in
India for
~ production

Choose the most appropriate answer from

the options given below:
(1) A-IV, BIL C-I, D-III
(2 A B, CIV, D-II
(3) A-IIL BIV, C-L,D-II
(4) A, BJL CIIT, D-IV
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29. The trade between two countrieg .

22. a@%@a%wﬁa’—ﬂw% e
er
(1) g =ER (1) Local trade
(2) e =R (2) Internal Trade
(3) WEAHNR 3) External Trade
£‘,1) TG AR 4 | International Trade '

Choose the correct hierarchy/order of the

23, W T % 68 e /A w g E A (R a | 23
4 ;= ( food chain (from bottom to top)

SR 3R) :

A. Omnivores
A, gaweh B. Herbivores
B. wehweft C. Autotlrophes '

D. Carnivores
C. Tqt E. Hetrotrophes
D. vl
E. fowmas
2 R o et & et s 1 991 A Choose the correct answer from the

- options given below:
(1) ABDCE () A BDCE
2 B,CEAD @ B,CEAD
3 ECBAD 3) ECBAD
@4 CEBDA

(4 CEBDA

Complete the given mathematical series
by choosing the correct option

24, o RFeT T gUIRA IR JEar R @R | 24,

1, 2, 6, 24, 120, ?
. 1, 2, 6,24, 120; ?
() 512 (1) 512
(2 720 (2 720
(3) 480 (3) 480
(4 225 4) 225
25. 39 39T i TEdH L S TEIHT &5 Cﬂfﬁﬂﬁ MM | 25. Identify the devices that accept data and
. e e F@T 2] instructions from the user
(1) DafET e (1) Processing devices
(2) M3YE TR (2) Output devices
(3) FAYE TR (3) Input devices
(4) WS ITR | (4)  Storage devices

BANTH (E3-10)
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26. -1 G- 11 g girfera ift, 30, 1T T3 g AR
iy -1 ' -1 FA-11
A ERAGTE Lo A wge L gl
B. T3, P 11 e B fme 1
0. TN L W c. =\ . & e
D. U,y Iv. sz D. V. W | |
freredt & & wafa om0 @ P et # @ wgRm S W
hifera: Bifr: |

(1) A-I, B-III, C-IV, D-II
(2) A-1V, BIL C-I, D-II
(3) Al B, C-II, D-IV
(4) AL B-IIJ, C-IV, DI

31, ‘5! G-eh e e’ R g ST &

(1) A-IV, B-II, C-III, D-I
(2) A B-IIL C-II, DIV
(8) A-IL B-1, C-IV, D-IT
(4) AL B-IV, C-III, D-I

27. Qﬁfﬁﬂ%ﬁmﬁt@ﬁ%ma—mwﬁnﬁ@ g :
TR EE ¥ =t o Yait Tt d (1) 9 STH
et a8 (2) IS
(1) @™ ' (8) T IEHT
2 @ ‘ (4) -~ IHH AAHK
D = | 32, e e 9 e R
_ _ A, Ut et
: . B. Siegasl
28, T AT g SIT: | _ -
= ' - D. frms@rer
B aéa . E. RqREE &
c. @m <113 o e Feeed 4 0 SR
D. ‘W= (1) B,A CD,E
N , @ B,AGCED
E. = 3) E. C.D,B,A
ﬂ%ﬁqmﬁwfﬁqﬁmmwﬁﬁm (4 ECBDA _
() %« C, D, E PN .
@ %¥ad A, B,D | - B " mﬂﬁ'aw’“'
(3) %ad A, B, E ‘ @
W % B,D.5 @ T
29, vy and g w ARRE AT W wmiET
| T T AT S e ST 34. e v A diee g o v R srar 27
(1) Ser e % gra < 1 (1) el
(2) IS TRI Beiehd SITQ @) ﬁgwm:r
(3) = A1 37 | @) T
(4) IriTE gUTE

() Frmae FET

BANTH - (E3-11)
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A

35. femuF g

36.

37.

BANTH

A gt

B. TuETE

C. Y& dEsh

D. uf@mr ar=eh

E. gfhdmeh :
A= R e el 1§ A 9l 3T 1 =997 AR
(1) *@@D,E,B

(2) WA, B, C

(3) Faw@C, DA

(4 &a@B,C,D

v yedl A fRww e w9
FHEAT &7

(1) Trarfamivor

(2 GaIm

(3) wiesyo

(4) Toor=

e iy @ S @ YRl 3@ W A
Yyl & ST AT (37-41) _

R 297 T qE—aE ¥ O A &d 8| $9H JEah
Tt T TR Hecd 21 94 df Teash A farfire =il

# smritfra fore < €, g Rt 3 wifty e &
R g I &1 A o S R, 3ae

39y Tecd 21 399 W & T gt YRR M
3 &1 @ a3 o g S v ¥ v ad
1 G Her Y % 1 T 56 AR g B we
1) 7o AT | 39 T Bt H 7 Al A9 3w
& qeas e ot Tl sifeeh, et wepmerht 3 oft
wirer e AT @i 4 7 o bl 5 foard) gw

T dem, Fhr, I, g ) e
it @ dig ardh |

o oY <1 37T 767 8
(1) g et
(2) wgHeT
(3) AR A
(4) weftde

38.

39.

40.

41.

42,

(E3-12)

HY oW p
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g e T TR e T SIS g
(1) WEITEH

(2) °

(3) TT&{W

€Y

< ol T ST TR T 7

(1) e

2 31

3 ™

(4) Afh
gmﬁﬁéﬁ%ﬁaﬁgﬁﬂﬁ%m"aﬂtﬁﬂ%m
Es e ‘ _ :
1 T H

2 TFEEi®

3 FEE
(4) TeReft el

= TAYE g i & fova Hia w2 gehd 87
Reg | '

—

T

EIRIGIE]

A R e Ryeredi 1 & Wl ITCH A HIT

(1) FaTA
(2) Fa@A, B
(3) %a@C,D
(4) ¥« C

FrrfRRae T o HIER FEre A
A YA IR R

B. YRIE #1TH

C. o wifaer e

D. U1 SR ST Y

B S3fdeE® g
vl o1 TRl S R O I A1

() D,CEAB

(2) ' A, B, C: E) D

(3) B,ECDA
(4 B,D,CEA

1
]
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43. o @ vt e 2 s Ry .
(1) 9oF epret
(3)  TIRGHR
4 ECERGEIT]

44. Freferia sre SATIHN Jafeq Eﬁﬁﬂ’: ]

45. ¥t vieg o 3F4q Tga W B

46. @-Iﬁ get- 1 3 ary gafea i
g1

A S
|

111 s:nara'raaﬁqm
IV. A drEs a3

I8 agnﬁﬁ ClCCs
T .

C. v
D. &=
1 fw g freed § @ HEt IR =FA Fif
() AL B, C-IV, D-1II

2 A-IV,B] C-111, D-II

(3) A B-IV, C-1, D-1I

4 ALV, B-I11, C-1, D-II

47. YEAR TN
(1) wEplah
(2) B

(3)
(4 FHEEC

BANTH

(E3 - 18)

48.

O a w »

49.

I | so0.

@7Iﬁ@—ll%w§ﬁ%ﬁw;
i1 TA-IT
SR FIHESY I IR |
frrmgh FEm 1L TRt i
teawge 1L gRe '
wmweE IV, T

fferfaa fredi # & wgfaq Sw w1 =

£k .

(1) A-II, B-III, C-1, D-IV
@ Al B CIL DIV
8) A-IV, B-II, C-III, D-I
(4) A, B, C-II, D-IV

et arF g

(1) HH BT EE

(2)  HieH Y AT St SR §

(3) & =@l Hla MY

(4) @I HeH TR et

Fft-T 3 geh-11 % e gafva i

-1 qeh-11
A EHA I 3
B. T . =
c wdh 0L %
D. @ v. ™

Frafafaa fowedl & & W@ W &1 =@
Tﬁﬁl"{:

(1) A-IIL, B-II, C-[, D-IV

(2) AJ, B, CIII, DIV

(3) AL B, C-IIL DIV

(4) A-1V, BIJ, C-I, D-III
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51.

2.

C))

53.

54.

T A=+ () i O =« (pm & 4.2 4
7.1 0 5 =

1) 149.1

@ 16.3

@) 39.7

@ 565

—~
—
~
ot

29
10

K
10
4

4) %

afe foreft wean & 40% %7 20 % 8 & 7 97 e
rd it
(1) 200
2 125
(3) 100
4) 225

afe 12 FeHl 1 7 30 T2 G 26 Few
’ﬁﬂﬁﬂ'&&‘ﬁ: '

(1) & 65
@2 ¥ 2.50

(3 ®.780

- ) ®. 10.4

BANTH

51.

52.

53.

54.

(E3 - 14)
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\

= + (addition) and [ _

I & % =
(multiplication) then 4.2.4 7.1 0 5
(1) 149.1
(2) 16.3
6)) 39.7
(4) 56.5
2. B _
e
1y ok
29
2 i
2) 10
7
3 —
®3) 10
4
4 R
(4) 25

If 20% of 40% of a number is 8, then the

number, is:

(1) 200

@ 125
(3 100
4 225

If 12 pens cost Rs. 30 then cost of 26 pens
would be:

W Rs. 65

(2) Rs. 250
() Rs. 780
4)  Rs. 104
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55. af% 10 kel o1 wmra e 8 FRHA S R | 56, If cost price of 10 chairs is equal 0 t}ﬁi“
then Ppro

% WA § A IHFER i R vl any ww selling price of 8 chairs, !
percentage of the shopkeeper 18

A

(1) 10 , @ 10

@2 25 | @ 25

(3 20 @ 20 : | :

(#h« dab 4) 125 |
56.  =TS1 1 WA Had fovan e & 56. Discount is always calculated on

@ ﬁaﬂﬂﬁm 5 (1) Selling price

(2) T (2) Cost price

(3) sifFd L ‘ ' (3) Marked price '

4 3q-§;5 g ‘ " (4) None of the above

57. 10 wieww whed 6 = | & 2,800 ® W | 57. The compound interest on Rs. 2,800 for
18 HTE o1, TR T o7l 2 18 months at 10% per annum 1s:

(1) w115 2OLE (1) Rs.115
(2) ¥®.420 (2) Rs. 420
(3) ¥. 320 - (3) Rs.320
(4) ¥ 434 (4 Rs. 434
58. i 7u wTHEl H 3IT% Gald Gl & A ' 58. Match the given solids with their -
: tive faces
gﬁ%ﬂaﬁﬁq , respec
g1 gf-11 . List-I List-IT
TR L Toc ' Solid figure Faces
A. Tﬁa.l%f I . 2 A Sphere ¥ I. 2
B. Cuboid | iy Al
il ot C. Cone . 3
C. % L. 3 D. Cylinder IV. 6
D. IV, B ‘ : : _
AR Choose the most appropriate answer from
A fag e forhe 81 4 I o <o 3 -+ the options given below:

(1) AL B-IV,CI DI
(2) A, B-IV,CII DI
(3) A-IL B-IV, C-III, D-I
A-II1, B-IV, C-I, D-II

(1) AL B-IV,C1 DI
(2 A, BIV, C-IL DI
(3 AL BIV,CII, D1
(4 AJIL BV, C-L DIl )

BANTH (E3 - 15)
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s9. &5 fywd 3 da @ oEd SHE 7

60.

61.

62.

5 3| 56 B3
meﬁaﬁmmaﬂwﬁaﬁﬁ”
ﬁw%a‘t—aﬁﬁwﬁmﬁmﬂﬁm
fop 27

1 90

@ 15

(3) 360

4) 1785

(1.08+0.03)? —4x1.08x0.03 =

W
@

@

@

12.035
1.2035
1.1025
11.025

a‘lmmd@mﬁaﬁraﬁmﬁaﬂf%
S afs

ST _

SRR

ITehT A -

€Y
2
3
4

AaﬂtBaﬁéw%mﬁﬁlﬁs:s%

Wﬁ@ﬁ%ﬂ%m;ﬁ%mﬁﬁﬂﬁﬂaﬁ
T G 2 ¢ 3 % TATa § B Y Ik oI = feror
foper 37T 3 grm? EPITY
1 2:3 g |
2 3:2

((3) 2581

(4) 5:2

M2 _ 1

59.

60.

GET IT ON
Google Play

marks in 5 subjecty

’ average .
Neera's . ohe receives marks fo.r hey
is 72 average rises to 75. Markg

act, D€

6t gubject: : e

he scored in 6% subject 18
s

1 90

@ 16

(3) 360

4 135

(1.08 + 0.03)% —4x1.08x 0.03 =
(1) 12.035

@ 1.2035

@ 1.1025

(4 11.025

61. The L.C.M. of two cq-prime numbers 18

(1) Their quotient

@
3
4

Their sum
Their product

Their difference

62. A and B starts a business. They invested_

capitals in the ratio 3:5; the timing of
their investments being in the ratio 2:3.
In what ratio would their profits be

distributed? '

1 2:3
2 3:2
3 2:5
4 5:2
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=
63. < TR WISA WA 7 Hew
(¢)) a@&q@m ? 63. The H.C.F of two co-prime numbers 18
@ 1 (1) the larger number '
3 o0 @ 1
(4 FTH HEA @ o
] (4) their product
64. Prefifea i d ;- - ‘ ) '
. /%-H_E'pr%/ i 4. Which of the following is/are correct?
A Ht & Ul 39 GEAT 1 Hdh A. A factor of a number is the exact
[EEIEER IR divisor of that number.
B. 17O @ HTHAAR B. 1 is the multiple of every number.
c. uf : : ..c. If a number is divisible by tWo
@m:ﬂé e E“T_E:I. TRHIST Gl | v co-prime number then it is divisible
B d 9% 9E S PASd g +oft by their product also.
forsrea et 21 D. LCM of 2, 5and 4 is 10.
D. 2.53W 4 1 TTENH GHIEA 102 ; ~ E. Every multiple of the number 18
E. WWWWMﬁwamm smaller than the number.
(1) FaAAIC ' (1) Aand Conly
(2 FT9A (2) Aonly
@) ¥a@A,CIRE ' (3 A, CandEonly
(4 *aaBIRD (49 BandDonly
65. @-I%W‘Fﬁﬁ-ﬂﬁfﬁaﬂm 65. Match ListI with List II
gfa-1 ' gfa-11 List-I List-II
343x49 . § S <49 § L 0
216x16x81 ZITTIRES
B. 1-p-g-a-T-D0 II. 6800 B. 1-p-u-a-i-by 1L 6800
4 5 5
4 2 15 g oobx e
C. 5 of = 111 | rd 15 7 67
D. 460 X15-—5X 20 IV 4/21 D. 460 X15—-5X 20 IV. 4/21
Choose the correct answer from th
e il A BTG e
= fgare et #a @ - options given below:
1 AL B.1, G-IV, p-11I (1) AL B, C-1V, D-11I
2 A1 BN, c-I, D-IV ‘ 2 A.]_H' B-11, C-1, D-IV
(3) AL, B, c-1v, D-II (8) AL B, C-1v, D-11
4) ALV, B-11I, C-11, D-I

4) A-IV, B-11L, c-11, DI

BANTH (E3 -17)
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f
|

A

66.

67.

68.

o e =t 459% 18 g7

9
(1) 55
81
2 To
5
3 Bl
(4)_ 40
ﬁmf%aﬁ,ﬂﬁqmaﬁﬁwmﬁwﬁ%
(1) 484
(2) 225
(3) 64
4 81
Et-1% 91 g=ht-IT o fore i
G-I 1T
A 1,929349 1 4
1 SgeT
B. 5,3,19862 II. 11
EaReric:|

C 472718810 9

Y HIfEehT
D. 14,7312 - IV. 8
=1 3@ |
13 e e 3 2 S iy

(1) AL BIV, CL DIl
AL B-III C-I, D-IV
AIIL B-I, C-IV, DI
AV, BIL C-L DI

2
3
)

3ANTH

66. . 18is45% of what number?

M o

81
(2 0

5
(3 2

4) 40

67.
also a cube number?

(1) 484
@ 225
(3) 64
) 81

68 MBEEL List I with List IT

GET IT ON
Google Play

‘

Which of the following square numbey is

List-I List-II
"A. Mode of I. 4
plal 220, 3md.19
B. Rangeof . |11
531962
C.  Median of . 9
47:2,7,1,3:8
Di rAverage of IV. 8

14, 7 and 12

Choose the most appropriate answer from

the options given below:
A1)  A-II, B-IV, C-L, D-II
(2) AL B-II, CII, D-IV
(8) AL B-I, C-IV, D-II
(4)  A-IV, BIII, C-1, D-II

(E3-18)
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69. @faﬁﬁiﬁﬁwm%aﬁmqum

69. The difference between the squares of

Fed forr=a e 1
two consecutive pdd integers is always
@ 5 5 divisible by |
1) b5 ' '
2 8% . - '
(3 7% @ 7
(4 61 o @ 6.

70. g fored st i v wd 9w F fo 70. 1 mark is given for each correct answer

1 375 fireran & 3 veieh et I Ry L s and —;— mark is deduced for each wrong
3

answer in MCQ examination. A student

w1z e 2| Fre frameff &1 120 W T FA W

. : got 80 marks for solving 120 questions.
80 3ieh TH gaTT At a R 1 aega: 3 fopet ¢

How many questions did she solve

sl et A e correctly?
W 170 1 70
2 90 @ 90
(3) 80 (8) 80
4) 30 4 30
7L iE31 V216 + Y729 + B4 = 7L Y731 x Y216 + 4729 + Y64 =

" 8o ' (1) 80
(2 30 @ 30
@ 139 8 139

o @ 79

| (E3-19)

BANTH
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79. A 3B 3 FEl Y dgw Y g €9 @ HR A

73.

74.

75.

BANTH

20 :

@ 17200

A

gaﬁmleﬁémAmﬁqwﬁ%ﬂaﬂ@
S (V4) 2 A 1,60,000 F ¥ =i @ # B
¥ ST T I I R

(1) ®. 30,000

(2) - ®. 40,000

(3) ¥. 32,000

(4) . 1,28,000.

e x Fee S Y 20 e WA §1 Y &
aﬂtyaﬁﬁ@wéﬁaﬁﬁlzﬁmww
ST | T 3l UTSY y T R W & feha T €T
e

(1) 30 e

2 20fFe

3 15fe

(4) 40T

uﬁmaﬁﬁwwg T 3l & 7 FA R,

T s s 6.5 P A gl i

7 St 21 @ I g foaaet g T A AR

aq

(1) 130 et
(@) 13 ferdiiet
(3) 65 FramiE
(4) 100 fercHx

%eﬁwgaﬁwzﬁaiazaﬁvh'ﬂahﬁm%
(1) 1080°

(3) 600°

(4) 900°

72.

73.

74.

765.

" (E3 - 20)

GET IT ON
Google Play

A and B two friends started a busineg
ntly. The investment of B is equal ¢,
investment of A. The progt
the annual profit of

joi
1/4 times the
share of B in
Rs. 1,60,000, is:
(1) Rs. 80,000

2 Rs. 40,000
(3) Rs. 32,000
(4) Rs.1,28,000

Pipe ‘¥ can £ll a tank in 20 minutes. Pipe
¢ and ‘y together can fill the tank in
12 minutes. How long will pipe ¥’ take to

£11 the tank alone?

(1) 30 minut;es
(2) 20 minutes
(3) 15 minutes.
(4)- 40 minutes -

~ Radhika performs -2— of the total journey

by rail, 576 by bus and the remaining

6.5 km on foot. Her total journey was
equal to: '

(1) 130km
(2) 13km
(3 65km
(4) 100 km

The sum of all the interior angles of 2
heptagon is:

(1) 1080°

(2) 720°

(3) 600°

(4) 900°
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76.
‘m
78.
79.
80.

247

DIRECTIONS (Q 76 - Q 80)

In :;ihe 1following pPassage, some of th
words have been omitted. Reag 1;he
passage carefully and choose the correrft3

answer to each 3
question
alternatives. from the four

Many kinds of insects are __(76)

larger animals learn to (17) gnd
!;hem. It is in the (78) of e:ltmg
1rfsects to show a __ (79) flag of 80‘:::9
kind. The typical wasp, for examplz

. (80) a conspicuous colour pattern
of black and yellow bands on its body.

(1) poisonous -
(2) flying

(3) conspicuous
(4) vulnerable
@) avoid.

(2) desist

(3) adjust

(4) prefer

(1) welfare

2 " pature”
(3) problem
(4) good will
1) coloured
2) dangerous
3) ambiguous
(4 warming
(1) carries

(2) conceals
3) paints

(4) flashes

RANTH

GET IT ON
Google Play

81. Match List I with List IT (Antonyms)

82.

(E3-21)

o o =% »

Choose the most appropriate a

the options given below:

1
@
@3)
(C))

A
B.
C.

D.

A-IV, B-IL, C-11, D-1
AL B-I1, C-IIL, D-TV
A-IL B-IIL, C-IV, D-I

A-ITT, B-IV, C-IL, D-I

List-I - List-II
Rumour ‘1. Ratify
Shallow 11. TFact |
Scorn III. Deep '
Repe él 1V. Esteem

nswer from

‘Match List I with List IT (Antonyms)

List-I List-II
Novice I.  Permitted
Puﬁgent - II. Deficient
Taboo III. Experienced
Abundant IV. Soothing

Choose the most appropriate answer from

the options given below:

M
@)
@)
(4)

A-III, B-IV, C-I, D-II
A-], B-11, C-111, D-1V
A-IV, B-I11, C-IL, D-I
A-IL B-III, C-1V, D-I
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Choose the appropriate word that cgy, b

A

Addal247

- \Fﬂff ey Wil‘fi}sltii?;;p;a:;:e;i;c e substituted for the gi.ven wo'rds sent:en%s:e
all evening ‘A list of explanations of technica) &
() been obsolete words’ :
(2 will ' " (1) Catalogue '
(3) were (2) Dictionary
i A be (3) Glossary

(4) Lexicon
84. Identify the tense in the given sentence:

When I last hi playing ' )
T e ezl "88. Choose the appropriate word which can b

cricket.
substituted for the given words/sentences,

(1) Future continuous

(2) Simple present ‘Free someone from blame’

(3) Present continuous ,. ; ‘ (1) Elevate
(4) Past continuous (2) Extern

(3) Preprimand

85. Choose the expression that is an (4) Exonerate
improvement of the underlined < .
words/phrases:
You should avoid.to make such trivial | 89. In the following questions, one word is
mistakes. : spelt correctly. Choose the correctly spelt
(1) avoid to had made word from the given options:
(2) avoid make (1) Necessety
(3) avoid making | (2)  Necesity
(4) avoid to have made ; @) Nesiasily

“ : : ; A4) Necessity
86. Choose the expression which is an

improvement of  the underlined
words/phrases: 90. In the following questions, one word i
Students are not abandoning helmets. but spelt correctly. Choose the correctly spelt
some of them are avoiding use of helmets word from the given options:
while riding motorbikes.

g (1)  Successfuly

(1) ~ some of them are avoiding the use _
' ' _(2)  Successfully

(2) some of them are avoid the used
(3)  Sucessfully

(3) some of them are avoid of the use
Succesfully

(4) some of them are avoiding of use 4)
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91.

A

DIRECTIONS (Q 91 - Q 95)

Read the following passage carefully and
answer the questions that follow:

I go fishing to Maine every sum

Personally, I am very fond of strawbermrfers;
and cream; but I find that for some
strapge reason fish prefer worms. So
when I go fishing, I don't think aboui’;
what I want. I think about what they
want. I don’t bait the . hook with
strawberries and cream. Rather, I dangle

3 worm or a grasshopper in the front of

the fish and say, “wouldn't you like to
have that?” :

Why not use the same common sense
when fishing for me?

This is what Lloyd George did. When
someone asked him how he managed
to stay in power after all the other
war time leaders — Wilson, Orlando
and Clemenceau - — had been ousted and
forgotten, he replied that if his staying on
top might be attributed to any one thing,

RANTH

GET IT ON
Google Play

92, The moral of the passage is

a
@
®
@

To be on top
To understand what you need
To follow your profession

To focus on what others need

93. The author is fond of

ekt
(2
3
@

' 94. Lloyd George believed that to stay

Strawberries and cream
Chocolates
Apples and cakes

Worms

aln

=

on top,

youneedto

it probably was to the fact that he had 3 (1)- e I
learned it was necessary to bait the hook
- to suit the fish. (2) take what you want and show how
Why talk about what we want? This is to get it
childish. Absurd of course, becauseé _
obviously you are interested in what you (3) use common sense above all
ot you are eternally interested 10 s (4) bait the hook to suit the fish
But no one else is. The rest of us are just ;
like you: we are interested in what we
want. So the only way o earth to 1nﬂuenﬁe
: i hat he , _ ‘
the otber fellany 25 t(;l tal}; :Z:Iil: = 95. The word which is closest in meaning to
: . - . .
wanits and Show — the set of words “to be removed” is:
Where does the author go every summer’? (1) Switched
ey Swimming (2) Forgotten
A2} EsIBE @) Inserted
= Whaling 4 Ousted
4) Dancing
(E3 - 23)
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96.

97.

A

247

Match List I with List II (Synonyms)

List-I List-II
A.  Gracious I. Fearsome
B. Ferocious II.  Unreliable
C. Fickle III. Large - hearted
D. Occasional IV. Infrequent

Choose the most appropriate answer from

the options given below:

() A-IV, BIII C-II, DI
(2) AJIL B CII, D-IV
_(3) AL B-IV,CIII, D-II
(@) AL B, C-IV, D-IIT

Match List I with List II (Synonyms)
List-I List-II

A. Penetrate 1. Vile

B. Vicious II. Original

C. Native III. Nontransparent

D. Opaque IV. Intrude

Choose the most appropriate answer from

the options given below:

(1 AL B-IL CL DIV
@ AL B, C-1V, DI
(3 A-I, B-IV, C-L D-III
() A-IV, B, C-IL D-II

ANTH

98.

99.

100.

GET IT ON
Google Play

Mohan said to Rohit, “What you are doip,

is immoral.” (Convert from direct i

indirect speech)

(1) Mohan said to Rohit that all men g,
moral

(2) Mohan told Rohit that what he Vi
doing was immoral

(3) Rohit said that to Mohan that What

" he was doing is immoral
(4) Mohan said to Rohit that he wey,

immoral

The father said to his son, “Where are you

going?” (Convert from direct to indirect

speech) | '

(1) The father enquired his son where
was he was going

(2) The father asked his son where he
: has been going _
(3) The fatﬁer asked his son where are
you going
(4) The father asked his son where he
was going
In the following question add a question

tag in the given sentence by filling in the
blank with the appropriate option
“You are joining us for the Picnic”

you joining us for the

picnic?”

(1) Can't
(2) Aren't
(3) Won't
(4) Haven't

(E3 - 24)
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